I iiierro

I 1,-7
I_>K+4 =D K+d =3 = k=06
Q—m
- m\ m-K K
L O
0y 9-C 6
Jrsr:(@,)k (—1)
3
T8y . & 3
T:E-Xﬁr,(;{i/f:b{: -
sy 2= T
S T =1
L»K-Hl > ks1=6 = k=5
o —
(3 - 20) |
|
X o
Jo\ lo-S S
TE:(;)K (-2a) = ‘gf(?\}f (-32) o
( S &
TL;'—‘ 5;(()51!~(-5Z])La D T = 282.(-52) fcf

2. TERMO INOEPEANDEANTE DE W =D X_D

——

L ((IE) (ks)%#k:. (%)K - (E) TEIOFSK. %j

lo-SK —k K o -bK
TKMZ(E)% o :(E\l .ZJK

e
O

)
LlO'CDK:O =D K:—:'Zz"o N Kéﬂ\l

R
NAo Pooe |
Lo(wo Ndo  EXisTe TEAMMO N DEPeNDEANTE -

bt (D ) ()R

w
w
(L) o -k K 6-2k K
’I’KH—(k)m UG g™

5] 3]
'rq:_,?.o
q. g-K K
Q
TKM:(K)H’ (=1)
lujg
Q-k=b = k=5
6 3 5
T :(g (-0 = 80
RO A )
5
Tq: '—%L‘)L

6. M=% = QTedmos = g
%

TeRMO CenfRal

K +/ = K‘{"/I:S =P K:L{

To=(8) D T, (33 e

| y
Te= 0 4o ) 1
S q1q] r > ’I/S- 14120 1

T- M=40 = M Telnos

J
J
&

1/:.2;521, 1 =1 = 52135

%- ?AﬁA CALCULARL A Som4 NS CoErUEwN-
TEs MNO DSENVOLVIMENTD D UM BivoMio

= N.Ew'i‘])/q SEMPLe SUBSNMTUA AS INC_DE,-—
NITAS  POR 1.

(}L + Y a
) > (A-) > o =0,
EXxemyLOD "
o a (s S S
(b}rk—?\ > (4-4) = (3-1)
2
1A
g 2
£
9‘ ({){J#Fl_)g—wm
i
v
X O
/l/(g :’I’KH D K+1=06 =p K=5
$ )
(9 3-8 ;, 8 o 4 >
"’c;(s\‘t (3) » To=(n. 0
28
i
T-(g L. (A a2 n
o S) 34 o AL 237
5
Tb:ﬁ/.\‘&},é,f* (- 75
ST EY »)
/J/(;_—;: '_'AZJ(’) L{ =N ’T—b:#é_‘?p}t{
%1 N6
10. Mm=Y = £ Termos = Ta
4
TeRMmo MEDio
TE( "Tewn = ki1=2 = k=2
0\
g\ Y-2 X 2
’rb:(.;l)h -("ﬂ => /@:(;ﬂk /
L 2
- 4k
2, BT )8 => T’_])- on

wWww.professorferretto.com. br



